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   Q1. Choose the correct option.            
1. 9750 rounded off to the nearest hundred is
a. 9000                  b. 9700               c. 9800                  d. 9760
2. Fourteen lakh two hundred two is written as
a. 1422                  b. 14202             c. 1400202            d. 140022
3. 7090  ÷   ___________  gives Q = 70 and R = 90.
a. 70                      b. 90                   c. 700                    d. 100
4. 17 x 6 = 102. So, 170 x 60 is equal to
a. 10200                b. 12000              c. 17060                d. 1020
5. The place value of 3 in 87,35,422 is ______________
a. 30,000                b. 3,000              c. 3                        d. 35,000
Q 2. Solve the following.
6. Simplify each expression using the DMAS order of operations.
a. 19 x 24 ÷ 2 =      ___________
b. 25 x 0 – 0 ÷ 25 =  ___________
7. Multiply :     321752 x 78
8. Form the greatest and the smallest 5-digit number with 2,3,0,1. You may repeat the digits.
9. ₹ 3,85,950 were given by the government to build a road in a town. The people of the town collected ₹ 65,175 more. How much money was available to build the road?
10. [bookmark: _GoBack]Write 90031556 in Indian and International place value system.
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